®

Question Booklet Series: A Question Booklet Serial No.: 100593

LL.B. (3 Years) Entrance Test - 2022

Important: Please consult your Admit Card/Roll No. slip before filling vour Roll
Number on the Test Booklet and Answer Sheet,

Roll No, (fn Figure) {In Words)

L |

O.M.R. Answer Sheet Serial No. ' J

Signature af Candidate; Signature of fnvigilator:

Time: 90 Minutes Number of Questions: 100 Maximum Marks: 100

D N THE SEAL ONTH ET UNTIL ASKED TO DO S0.

INS TRUCTIONS:

Write your Roll No. on the Questions Booklet and also on the OMR Answer Sheet in the space provided and

nowhere else.

Enter the Question Booklet Serial No. on the OME Answer Sheel, Darken the comesponding bubbles with Black

Enll Point/Black Gel Pen.

3. Do not make any idestificadon nark on the Answer Sheel or Question Bookles.

Please eheck that this Question Booklet contains 100 Questions. In case of any discrepancy, inform the Assistant
Supertntendent within 10 minutes of the sten of Test,

3. Each guestion has four altemnative answer (A,B,C,D) of which only one is correct. For each question, darken only
ane bubtle (A or B or C or D), whichever vou think is the comest answer, on the Answer Sheet with Black Ball
Point/Black Gel Pen. There shall be negative marking for wrong answer, 4 of the marks of the question
will be deduweted Tor EVETY WOHIE BNSWEr.

b, If you do pol want o answer & question, beave all the bubbles comesponding fo that question blank in the Answer
Booklet. No marks will be deducted in guch cases.

7. 30 minutes Extrn would be given to the visually handicapped/PwD Candidotes,

8 Darken the bubbles in the OMR Answer Sheet according 1o the Serial No. of the question given in the Question
Bookiet,

9. If you wand 10 change an already marked answer, erase the shade in the darkened bubble completely,

10, For rough work only the blank sheet at the end of the Question Booklet be used,

Hl. The University will provide Logarithmic table, Borrowing of log table or other material is not allowed,

12, The Answer Sheet is designed for computer evatuation, Therefore, if you do net follow the instrections given on
ihe Answer Sheet, it may make evaluation by the computer difficull. Any resultani boss to the candidate on the
abwrve sccount, e, not following the instractions completely, shadl be of the enndidate only,

13, After the test, hand over the Question Bookler and the Answer Sheet to the Assistant Superintendent on duty.

14. In no case the Answer Sheet, the Question Booklet, or its pan or any material copied/noted from this Booklet is
to be taken out of the examination hall. Any candidate found doing so would be expelled from the examination.

15. A candidate who creates disturbance of any kind or changes hiwher seat or is found in possession of any paper
possibly of any assistant or found giving or receiving assistant or found using any other unfair means during the
examination will be expelled from the examination by the Centre Superintendent Observer whose decislon shall
be final,

16, Communication equipment such as mobile phones, pager, wireless sel, scanner, camers or any
electronic/digital gadget eic., s not permitied inside the examination hall. Use of calenlators ks not allowed.

17. The candidates will not be allowed to leave the Examination Hall'Room before the expiry of the allotied time,

)



(LLB- A)

. Which one of the following is not a theme of the government initiative Azadi Ka Amrit
Mahotsav

(A)Freedom struggle (B) Resolve (@75

(C) Action @ 75 (D) Progressia) 75

. Mithila Raj recently became the first female cricketer to win which of the following
awards?

(A} Major Dhyan Chand Khel Ratna Award

(B) Major Dhyan Chand Award
(C) Major Abdul Kalam Azad Trophy (MAKA Trophy)
(D) Dronacharya Award
. Which institution released the report titled 'Tobacco: Poisoning Cur Planet™?
(A) NITI Ayog (B) Ministry of Health and Welfare
{C) World Health Organisation (D) UNICEF
. Operation "Rakth Chandan’ was associated with which institution?
(A) Marcotics Control Bureau (B} Indian Army
(C) Indian Navy (D) Directorate of Revenue Intellipence

. Which Indian state is the first to conduct statewide Lok Adalat through video
conferencing?
(A) Maharashira {B) Chhattisgarh (C) Kerala (D) West Bengal

. Where is the headquarters of the United Nations Office on Drugs and Crimes?
{A) Austria (B) USA (C) Hungary (D) Germany

. Which Union Ministry launched "Emergency Credit Line Guarantee Scheme"?
{A) Ministry of Finance

(B) Ministry of Micro, Small and Medium Enterprises (MSME)

{C) Ministry of Commerce and Indusiry

(D) Ministry of Corporate Affairs
. What iz the theme of the World Environment Day 20227
{A) Invest in our planet (B) Only one earth
(C) Life on earth {D) Live with the nature

. Ministry of Tourism launched the National Strategy for sustainable tourism’ along with
which organization?

(A) UNEP (B) FAD

(C) World Economic Forum (D) World Bank

10. Which major tech-company recently announced that it has planned 1o cut more than half

of carbon emissions across its supply chain?
(A) Microsoft (B) Google (C) Infosys (D) IBM



1. How many time Z0nes are there in the world?

[A) Twelve {B) Sixteen {C) Twenty-four (D) Forty-cight
12, Who became the first Indian woman 10 join the ‘International Olympic Commitiee'?

(A)P T Usha (B} Nita Ambanj

{C) Privanka Chopra (D) Kamnam Malleswari

13. As per the recent report of the National Centre of Polar and Ocean Research (NCPOR),
which ocean has seen the greatest decline of ice in the lagt 4] years?

(A} Arctic Ocean (B} Antarctic Ocean
(C) Indian Ocean (D) Pacific Ocean
i4. Which species is 1o he nsured by the Nationa Insurance Company (NICL)?
(A) Himalavan Yak (B} Great Indian Bustard
(C) Kashmir Stag (D) Nilgiri Tahr

I5. Which Indian Company has partnered with Canada's largest payment erganization
‘Payments Canada™?

(A) Infosys (B) Tata Consultancy Services {TCS)
(C) WIPRO (DY NPCI

16. Which institution has Partnered with UNICEF India on Sustainable Development Goals
(3Ds) with a focus on children?

(A) Ministry of Women and Child Development
(B) NITI Adyog

{C) Smile Foundation

(D)) Pratham Foundation

I7. The Legal Entity Identifier (LEI} code has how many characters?
(A) Seven (B) Ten {C) Twelve (D) Twenty

I8. Which airport in India has decided io replace al| vehicles with electric vehicles (EVs) on
the airside operations {0 cut greenhouse gas emissipns?
{A) Kﬁmpeguwda International Airport Bengalury

(A) COBRA-GOLD (B) Saimvedna
(€) CORMORANT STRIKE (CORS) (D) Rim of the Pacific’ (RIMPAC)

20. Wha is the Youngest kabbadi entrant in the Khelo India Youth Games?
(A) Ravi Dahiyg (B) Tripti Rana _
(C) Eitu Mandal (D) Emad Sedaghatnia
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21. Who is the First Deputy Managing Director of the International Monetary Fund?
{A) Jayanti Ghosh {B) Bina Aggarwal
(C) Gita Gopinath ([}) Devaki Jain

22. Evacuation of Indian Nationals from Ukraine amidst ongoing conflict was carried Our
under-

(A} Operation Ganga (B) Operation Vijay

(C) Operation Raahat (D) Operation Milaap
23. Which is the longest bridge in India?

(A) Dibang River Bridge (B) Dhola Sadiyva Bridge

(C) Bogibeel Bridge (D) Digha Sonpur Bridge

24, Which is the national tree of India?
{A) Banyan Tree {B) Peepal Tree {C) Ashoka Tree {D) Palaash Tree

23, What is the international border between India and Pakistan known as

(A) Radcliffe Line  (B) Blue Line (C) McMohan Line (D)) 17" Parallel
26. Which is the smallest island country in the world?

{A) Kiribati (B) Palau {C) Nauru (D) Marshal Islands
27. Other than spreading majmia,'mmpmies mosquitos are also vectors oft

{A) Dengue fever (B) Filariasis (C) Encephalitis (D) Yellow fever
28. Which gland in the human body secretes insulin?

(A) Thyroid (B) Pituitary gland

(C) Pancreas ([¥) Adrenal glands

29. Plants that grow in saline water are called:
(A) Halophytes (B) Hydrophytes (C) Mezophytes (D} Thallophytes

30. Which country abolished the prevalent corporal punishment of flogging (beating with
whips)?
(A) Saudi Arabia (B) Iran (C) Oman (D) Kuwait

31. Night blindness is caused by lack of which vitamin?
{(A) Vitamin A (B) Vitamin B (C) Vitamin C (D) Vitamin D

32. Name the vaccine that is joimly developed by the German company BioNTech and US
Pharma giant Pfizernfor COVID-197
{A) BNT 162 (B) PICOVACC
{C) Both A and B (D)) Neither A nor B

33. As per World Bank’s Doing Business Report' 2020 out of 190 countries, India is placed
at rank:

(A) 100 (B) 146 (C) 73 (D) 63
(3)



34. The Indian delegation to the fipg World Conference gn Human Rights was led by:
(A) Faroog Abdullgh (B) Dr. Manmohan Singh
(C) Dr. Kiran Bedj (1)) Alam Khan

33, Which “ountry topped the medals tally in the International Shooting Sport Federation
(I55F) Warld Cup 20227

(A) UAE {(B) China (C) Japan (D) India
36. Who wrote the book-I Do What [ Do?

{A) Shashi Tharoor {B) Raghuram Rajan

(C) API Abdul Kalam ([} IK Gujral
37. When is Warld International Justice Day celebrated?

(A) 20™ March (B) 21% April (C) 17 July (D) 21* July
38. Who was known as the 'Iron Man' of India?

(A} Jawahar [ g Nehry (B) Govind Ballakh Pant

{C) Sardar Vallabhbhai Pagel {D) Subhash Chandra Bose
39. The southemmosi point of peninsular India, that is, Kanyakumari, is:

(A) North of Tropic of Cancer (B) South of Equator

(C) North of Equator (D) South of Capricom
40. Which is the only country not named og Its Stamps?

{A) China {B) Great Britain {C) Iran (D) Germany

41. Fundamenta] rights given under Part [ of the Constitution are
(A) The rights against the state action (B) The rights for state action
(C) The rights conferred upon the sigie (D) None of these

42. What is the time limit for President 1o give assent or send back the bills?
{A) One month {B) Two months {C) Three months (D) No time limijt

43. Who is the only Chief Justice of the Supreme Court who has discharged the duties of the
President of India?

(A) Justice M. Hidayatullah (B) Justice Irishna Iyer
(C) Justice P. N. Bhagwati (D} Nene of the above

44. Payments from the Consolidated Fund of India are authorized by the:
(A) Finance Act (B) Consolidated Fund Act
{C) Money Bill (D) Appropriation Act

43. Bombay High Court territorial jurisdiction does not extend 1o;
{A) Maharashira (B} Dadar & Magar Haveli
() Lakshadweep (D)) Goa, Daman & Diy

46. In which year was the combined Railway Budget and the General Budges first presented
during Modi government?
(A) 2014 (B) 2017 {C)2018 (D} 2015
(4)



47, The power to decide an election petition is vested in the;

(A) The Supreme Court (B) The High Courts
(C) The Election Commission {D) The Parliament

48. Free legal aid for an accused is a:
(A) Fundamental Duty of the State (B) Fundamental Right
(C) Directive Principle of State Policy (D) Discretion of the State

49, A previous judgement cited by court to decide on a similar set of facts is known as:

(A) Judgement (B) Precedent
(C) Ratio decidendi (D) Obiter dicta
30, Development of law of Tort has taken through:
{A) Customs (B) Judicial decisions
{C) Enactments (D) All of these

31, The Supreme Court of India tenders legal advice to the President of India when:
{A) The Cabinet recommends it

{B) The Council of Ministers recommends it
(C) President secks such advice
(I Supreme Court wants to tender the advice

32. What kind of questions are not asked during the question hour of parliamentary
sitting-
(A} Starred questions (B) Unstarred questions
(C) Emergent questions (D) Short Motice questions

53. All moneys received by or on behalf of the Government of India are credited to-
|. The consolidated Fund of India
2. The Public Account of India
3. The Contingency Fund of India
{A) 1 only (B)1 &2 (Cy1 &3 D)1,2&3

54. Which of the following states does not have bicameral legislature?
(A) Bihar (B) Kamnataka (C) Rajasthan {D) Maharashira

35. Which of the following amendments of the Constitution reduced the voting age from 21
to IR years?

(A) Forty-fifth Amendment, 1985 (B) Fifty-sixth Amendment, 1986
(C) Sixty-first Amendment, 1989 (D) Sixty-ninth Amendment, 1991

56, Lok Adalors have been created under:
{A) Arbitration and Conciliation Act (B) Legal Services Authority Act
(C) 73" Amendment of the Constitution (D} Ombudsman Act

37, Driginally Supreme Court consisted of a Chief Justice and:
(A) Seven other judges (B) Twelve other judges
{C) Thirteen other judges {3} Fifteen other judges
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58. Who was the first woman advocae to be elevated as a judge of the Supreme Coun of
India directly from the Bar?

{A) Justice Indu Malhotra (B) Justice Indirg Banerjee
(C) Justice B. V. Nagarathna (D} Justice Bela M. Trivedi
39. What is the highest number of sitting women judges in the Supreme Court ever?
{(A)3 (B) 4 (C)5 (D) 6
60. How many times has financial emergency been declared in India so far?
(A) Cnce (B) Twice (T Thrice (D) Never
61. The original Constitution was handwritten by:
(A) Rafi Abmad Kidwai (B) Kailash Nath Katju
(C) Prem Behari Narain Raizada (D) Kanaiyalal Meneklal Munsh;

62, The Indian Legislature was made Bi-cameral for the first time by:
(A} Indian Council Act of, 1892 (B) Indian Council Act of, 1909
{C) The Government of India Act, 1919 (DY) The Government of India Act, 1935

63. The Supreme Court of India was set up by:

(A) The Regulating Act, | 773 (B) Pitt's India Act, 1 784

(C) Charter Act, 1813 (1) Charter Act, 1822
&4. In India right to property is a;

(A} Legal right (B) Moral right

(L) Fundamental right (D)) Personal right

63. Sine die is associated with the power of:
i) Presidemt (B) Speaker {C) Chief Justice (D)) Prime Minister

06. How long a person should have practiced in a High Court to be eligible to be appointed
as a judge of Supreme Court of India?

{A) T vears (B} 10 years (C) 12 vears (D) 15 years
67. Who was the first Chief Justice of the Supreme Court of India?

{A) M. Patanjali Shastri (B) H. J. Kania

(C) Bijan Kumar Mukherjes (DY) Mehr Chand Mahajan

68. How many times a person can become President of India?
(A} Once (B) Twice {C) Thrice (I¥) Mo limit

69. Till now, the Preamble to the Constitution of India has been amended for how many
times?
(A) Never {B) Once (C) Twice (D} Thrice

70. How many ‘anguages have been recognized by the Constitution?
(A) 15 (B) 18 {C)22 (D) 24
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71. Who is competent 1o prescribe conditions for acquiring Indian citizenship?

(A) State legislature (B) Parliament {C) President (D} Attorney General
72. The Constitution names our country as:

(A) Bharat (B) India, that is Bharat (C) Hindustan (D)) Aryavarta
73. Right to constitutional remedies comes under-

(A) Fundamental rights {B) Legal rights

{C) Constitutional rights (D) Natural rights

74. Indian Constitution recognizes minorities on the basis of:
(A) Religion (B) Caste (C) Colour (D) Population

75. The prohibition of employment of children below 14 years has been provided under the
Constitution of India as:

(A) A fundamental right {B) A Directive Principle of State Pol ey

(C) Right to equality (D) A duty on the parents and guardians
76. The violation of which of the given rights leads to an action in torts?

{A) Rights per se (B) Rights in rem

{C) Rights in personam (D) Rights ad finitum

77. Choose the correct answer based on the followi ng statements-
1. All void contracts are not necessarily illegal,
2. All illegal contracts are void.

{A) Both | and 2 are individually correct  (B) | is not correct but 2 js correct

{C) 2 is not correct but 1 is comrect (D) Both 1 and 2 are individually incorrect
7. A contract will still be a valid contract if it is-

(A) Opposed to public policy {(B) In restraint of marriage

(C) A wager (I¥) Without adequate consideration

79. Which of the following is both a tort as well as a crime?
(A) Defamation (B) Theft (C) Murder (I3} None of these

80. The Indian Penal Code is a:
(A) Procedural law  (B)  Moral law  (C) Substantive law (D) Adjective law

BL. If 'Grandfather' is called "Maternal uncle’, ™Matermnal uncle’ is called 'Father’, 'Father' is
called ‘Grandmother', then who is father of my father?
(A) Matemnal Uncle  (B) Grandfather {C) Father (D) Grandmother

82. Three persons A, B and C are standing in a gqueue.
i) There are five persons between A and B,
ii} There are eight persons between B and C.
i) A is standing behind B.
If three persons are ahead of C, what could be the number of persons in the quewe?
(AT (B) 18 (C)20 {D) 19
{7)



83.

B4,

86,

g7,

88,

89,

If the second day of a Thirty days month is Friday, which of the following would be the
last day of the month?

(A) Sunday (B) Tuesday (C) Wednesday (13} Friday

How many possible combinations of ane butterfly and one flower can be formed from
three butterflies and four fowers?
{A)12 (B} 10 (C) 11 (9

and the advocate.

If the advocate and the businessman exchange their positions, and also the author and the
student, then who will be standing to the left of the student?

(A) Author (B) Businessman {C) Professor (D) Advocate

Fact 1: All dogs like to run
Fact 2: Some dogs like to swim
Fact 3: Some dogs look like their masters
If the first three statements are facts, which of the following statement must also be a
fact?
i) All dogs who like to swim look like their masters
i} Dogs who like to swim also like 1o un
i} Dogs who like to run do not look like their masters

(A) i only (B} ii only

(C)ii and iii only (D)) none of them is a known fact

Pointing to Kavish, Shilpa said- His mother's brother is the father of my son Akash, How
is Kavish related to Shilpa?

(A) Sizter-in-law {B} Nephew (C) Nieca (D) Aunt

(A) Morth [B) South (C) East (D) West

Ravi andKuMmgmdinhmhyandvu]leM. Sachin and Ravi are good in hockey
and baseball. Gaurav and Kunal are good in volleyball and cricket. Sachin, Gaurav and
Sagar are good in haseball and football,

Who is good in baseball, cricket, volleyball and football?

{A) Sagar (B) Sachin (C) Ravi (D) Gauray

- There are deer and peacocks in a zoo, By counting heads they sre 80 and the number of

their legs is 200. How many peacocks are there?
(A) 60 (B) 20 (C) 50 (D) 30
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91. Which word in English means both 'to join' and 'to split?

(A) Cleave {B) Schism (C) Diissever (D) Sunder
92. Match the antonyms and choose the correct answer-

1} Delectation i) Bottom

i) Mellifluous ii) Efficacious

1ii) Zenith i11) Unlyrical

iv) Otiose iv) Displeasure
(A) (i, 1i); (i, iii)(iii, iv) and (iv, i) (B (i, iv); (i, iii); (i, i) and (iv, ii)
(C) (i, iii); (i, iv)(iii, i) and (iv, i) (D) i, iv); (i, 1i); (idd, 1) and (iv, i)

93. Ume who is bad at spelling is known as

{A) Cacographer (B} Cogquette () Polvelot {D) Heretic
94, Which is not a synonym of cataclysm?
(A) Alluvion (B} Deluge {C) Inundation (D) Kaput
95. What is opposite of exotic?
{A) Native (B) Strange (C) Curious (D) Mysterious
96, Familiarity breeds {Choose the correct option to complete the given proverb):
{A) Friends {B) Contempt (C) Condemn (D) Foes

97. Which of the following is not the synonym of oval?
(A) Ovoid (B) Elliptic (C) Ovate (D) Angular

98. Which one of the following is the odd one out
(A) Never put off till tomorrow what you can do today
(B) Never is a long time
(C) Procrastination is the thief of time
(D} Tomorrow never comes

99, A dramatic performance (Chose the most appropriate one word substitution):;

(A) Mask (B) Musk {C) Mascot (D) Masque
100. An athletic event in which each competitor takes part in ten events-
{A) Decahedron {B) Decathlon {C) Pentathlon {3 Hexathlon
X-X-X

(9)
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(A)[@ B [ @ (A) [ B [

(©) ™ D) > € [® (D) [

91) | Which word in English means both o join’ Which word in English means both o join' and
and ‘to split™? o split?

' (A) | Cleave | | {A) | Cleave
(B) | Schism (B) | Schism
(C) | Dissever (C) | Dissever
(D) | Sunder , (D) | Sunder

92) | Match the antonyms and choose the Match the antonyms and choose the correct
COrrect answer- answer-

i) Delectation i) Bottom i) Delectation i) Bottom

i} Mellifluous it} Efficacious ii} Mellifluous ii) Efficacious

iii}) Zenith iil) Unlyrical iii) Zenith 1ii) Unlyrical

iv) Otiose iv) Displeasure iv) Otiose iv) Displeasure

(A) | (, id); (i, dii):(iii, iv) and (iv, i) (A) [ (i, ii); (i, iii);(iii, iv) and (v, i)

(B) | (i, iv); (i, dii); (iii, i) and (iv, ii) (B) | (i, dv); (i, iii); (iid, i) and (iv, if)

(C) | (4, fid); {id, iv);(iid, i) and (iv, ii) (C) | (i, i) (i, iv)(iii, i) and (iv, i) N
(D) | (3, iw); (id, di); (idd, i) and (iv, i) (D) | (i, av); (i, ai); (idd, i) and (iv, i) .

93) | One who is bad at spelling is known as One who is bad at spelling is known as
(A) | Cacographer (A) | Cacographer
(B) | Coquette (B) | Coquette
(C) | Polyglot (C) | Palyglot
| (D) | Heretic (D) | Heretic _

94) | Which is not a synonym of cataclysm? Which is not a synonym of cataclysm?

(A) | Alluvion {A) | Alluvion
(B) | Deluge (B) | Deluge
(C) | Inundation (C) | Inundation
(D) | Kaput (D) | Kaput




takes part in ten events-

95) | What is opposite of exotic? What is opposite of cxotic?
(A) | Native (A) | Native
(B) | Strange (B) | Strange
(C) | Curious (C}) | Curious
(D) | Mysterious (D) | Mysterious
96) (Choose the correct oplion 1 complete the (Choose the correct option to complete the
given proverb): Familiarity breeds given proverb): Familiarity breeds
(A} | Friends (A) | Friends
iﬂ} Contempi (B) | Contempt
(C) | Condemn (C) | Condemn
(D) | Foes (D) | Foes
97) | Which of the following is not the synonym Which of the following is not the synonym of
of oval? oval?
(A) [ Ovoid = (A) | Ovoid
(B) | Elliptic (B) | Elliptic
 (C) | Ovate (C) | Ovale
(D) [ Angular (D) | Angular
98) | Which one of the following is the odd one | | Which one of the following is the odd one out
| oul
(A) Never put off till tomorrow what you (A) | Never put off till tomorrow what you can
can do today do today
{B) | Never is a long time (B) | Never is a long time
(C) | Procrastination is the thief of time (C) | Procrastination is the thief of time
(D) | Tomomrow never comes (D) | Tomorrow never comes
99) |(Chose the most appropriate one word (Chose the most appropriste one  word
substitution): A dramatic performance substitution); A dramatic performance
(A) | Mask (A) | Mask
(B) | Musk (B) | Musk
(C) | Mascot (C) | Mascot
[ (D) | Masque (D) | Masque
10d)) | An athletic event in which each competitor An athletic event in which each competitor

takes part in len events-

(A) | Decahedron (A) | Decahedron
(B) | Decathlon (B) | Decathlon
(C) | Pentathlon {(C) | Pentathlon
(D) | Hexathlon (D) | Hexathlom




